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He said to him; ‘I said something which is necessary for all people,
and a deer is necessary for all people’

OVERVIEW

WX 27 explained to X277 7°72 XAX 217, that (slaughtering) a deer for eating is
something in which all people are equal, since they all need to eat; however
(making a fire for) %31 is only for pampered people and is not w91 937 7°7%. Our
n190n discusses whether 782 is a w1 93% 77X 127.
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And similarly 782 is a w91 3% 737 127, therefore we can say T regarding nx»3, and
consequently it is ©"1°2 7902 2Ww12% .

nvoIn asks:
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And the >''1 has a difficulty with this idea that we say 71 regarding 7X°2; for Xax
XN 72 in the end of the second p=5 of %% noon, asked of »aX, what is the

ruling whether it is permitted to extinguish a lamp because of R 927 -
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And "X concluded that it is prohibited to extinguish the light; but here it is

permitted to be v"1°2 7912 ¥12 since 7X°2 is something which is we1 ®o% 791%, and
we say TInn, similarly there we should also say T1EY 89w *»1 7M1 719°3K 2710%2 "2 7IMmw i,
since 18°2 is w1 937 1% and it should be permitted!

mooIN answers:
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And one can say that only here where it is the first 78°3, which is a mx», so it

is mx» 9% for this day, that is why we can say Tinn -
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However the rest of the n» w2 (after the first 79°v2) is not considered that much
of a 21377 9™, for he can do it another time.

' anx 127 is a euphemism for 7wn wnwn. It is forbidden to have w»wn when there is light (see X, 773); The
question was can one extinguish the light on v" in order to have »"nn.
* See 2py> n°a that one is permitted to roast meat on coals even though he is extinguishing (some of) the coals.
? See mxn nwa "7 K, 7 'O
* Similar to 7271 N9W; see TINn 11"7 'oIn (TIE footnote # 7) that it is permitted only because 10m 727 W T ROW.
1

TosfosInEnglish.com



MR "7 '0I0 R,7 N2 .7"02

mooin offers an alternate answer:
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And furthermore one can say; that extinguishing a candle because of R'7, is

like P wan, which (regarding 17°won) is forbidden even if it is for ws1 %218 (and
we certainly cannot apply the 71n% ruling to wan —

mdoINn proves his point:
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And this concept is also evident there, for the X723 there challenges the view of
"X that the m12°2 1s MOX, from the Xn%"12 which states that we may extinguish a
log in order the house should not smoke up, so why cannot we extinguish the candle
for X"7-
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And »ax answered that Xn»92 is according to 5" who permits doing 70X%1 even
if it only w1 %28 " wan, however I gave my ruling prohibiting »125 according to
the 3129 who prohibit w1 931X *won.

SUMMARY

TNWRY 72°v2 (which is a mx¥n N9 va) is certainly a 01°7 M¥n 71X (as opposed to W
mx°1). We do not allow maxX?»n which are only w91 9518 *1°won (and certainly do not
say 71 by such moX5» which are 7w, such as 137 125 for 8'"7).

THINKING IT OVER

Moo writes on his second answer that it is 79m." Why therefore is this (merely)
the second answer and not the first (and why is the first answer altogether
necessary)?

> won or ‘preparatory’, refers to actions which do not actually provide us with the w1 223X (such as making a fire
or cooking), but rather enable us to prepare the food for eating such as building an oven, chopping wood, etc. These
Maxo7 are forbidden on v"y even for wo1 95X, [See (however) X177 17"7 8,25 7%°2 "o, w"»y.] Similarly the 79K77 of
extinguishing the lamp merely enables one to do the ¥ of 7X°2 and is considered °won; as opposed to the X2
T1WwXY where the 719877 of making the 771237 is an integral part of the 7%*2 (and not merely a 2 won).
% See “Thinking it over’.
7 Therefore according to >3 one may extinguish the nyp2 so he will be able to be in the house and eat; however this
is considered only w51 723X *1w5n, which the 1127 prohibit if it requires a 79871, [The words 'wd1 9318 »1*wan w7 do
not appear in the X713, it is the explanation of M501n.]
¥ See footnote # 6.
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